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QUESTION 1

Routet-1 and Router-2 must connect through the Internet using a tunneling technology. Hosts that are connected to
Router-1 and Router-2 will be sending traffic up to 1500 bytes. The maximum segment size that is supported across the
path is 1520 bytes.

Which tunneling technology will allow this communication to take place?

A. IP-IP tunnel

B. GRE tunnel

C. IPsec VPN tunnel mode

D. IPsec VPN transport mode

Correct Answer: A

QUESTION 2

Which statement is true about IP-IP tunnels?

A. The time-to-live value of the original packet Is decremented.

B. IP-IP tunnels are protocol agnostic.

C. The packet is encapsulated unchanged before entering the tunnel
D. The packet header is replaced before entering the tunnel

Correct Answer: C

QUESTION 3

Which two statements concerning I1S-IS adjacencies are correct? (Choose two.)
A. For Level 1 adjacencies, the area IDs can be different.

B. For Level 2 adjacencies, the area IDs can be different.

C. Level 2 routers can form an adjacency with Level 1 routers.

D. Level 2 routers do not form adjacencies with Level 1 routers.

Correct Answer: BC

QUESTION 4

You are running a Virtual Chassis with nonstop routing enabled. You want to confirm that the BGP routing table
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synchronization has completed on the backup Routing Engine.
Which command will show you this information?

A. show task replication

B. show bgp summary

C. show bgp neighbor

D. show bgp replication

Correct Answer: D

QUESTION 5

You must limit access to a printer with a persistent DHCP address of 2001:db8:0000:50::10/64 in VLAN v50 to users
assigned to VLAN v50 only. Which action would satisfy this requirement?

A. Implement persistent MAC learning to ensure that 2001:db8:0000:50::10 is allocated properly.

B. Implement a firewall filter on the IRB interface for VLAN v50, blocking traffic to/from 2001:db8:0000:50::10.
C. Implement a firewall filter on the VLAN v50, blocking traffic to/from 2001:db8:0000:50::10.

D. Implement DHCP snooping on VLAN v50 to ensure that 2001:db8:0000:50::10 is allocated properly.

Correct Answer: B
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